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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 - —o— ECO

4000 -
3500 -
3000 - NJ \

2500 W
2000 -
1500 -

Warning: col ['FVOEC'] is missing
1000 +

0 10 20 30 40 50



Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E1
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P6AE

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS e

07:25 327 160.0 3.136 FH| FnHR@O7:25 KRENRZF (FREAERSE)
08:00 327 160.0 3.136 FA| FHA@08:00 KENFZF (ARFIEES)
08:35 327 160.0 3.136 FR| FHA@08:35 KRENFZF (KRFAIREES)
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11:10 327 160.0 3.136 FA| FnHR@11:10 RFFEF (KAERKSE)
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21t 5232.0 (16)%) 2560. 0 3203 KEC: 2080.0, PH: 5.5
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FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E1, Day=57 (2025-06-01)
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P6AE_E1, Day=56 (2025-05-31)
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P6AE_E1, Day=55 (2025-05-30)
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:15 327 160.0 3.136 F BRige07:15 Bz (GRAERESE)
07:55 327 160.0 3.136 S| {Rig@07:55 B (RAERSE)
08:55 327 160. 0 3.136 E  1BRi&e08:55 BE1 (RAERE)
09:40 327 160.0 3.136 (Z=| {Ri%@09:40 Bzh (FAERHSE)
10:15 327 160.0 3.136 (Z=| 1Ri%@10:15 Bz (REERSE)
10:50 327 160. 0 3.136 |Z=| 1Ri&e10:50 Bzl (GRAERE)
11:25 327 160.0 3.136 |Z=| {Ri&et11:25 Bz (GREERSE)
12:05 327 160.0 3.136 (Z=| {Rig@12:05 Bz (RAERSE)
12:40 327 160.0 3.136 (Z=| {Ri%e12:40 Bz (KRAERSE)
13:15 327 160.0 3.136 5| {Ri%e13:15 Bz (GRAERSE)
13:50 327 160.0 3.136 = RRiB013:50 B (RFAEESE)
14:25 327 160. 0 3.136 E BRige14:25 Bz CGRAERESE)
15:05 327 160.0 3.136 El 1BRi&e15:05 Bz GRAEREE)
15:45 327 160.0 3.136 = RRiB015:45 B (RFEAEESE)
16:40 327 160.0 3.136 (Z=| {Ri%e16:40 Bz (RAERSE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

EREHTERRA (0.93) , BEE

MEREHER 2 STHAE AR (301.0 : 160.0), FAIREKREERE
BRIASERRIERE160. 0 ml.

#[EKECE (2180.0 vs 3695.0) 15

ERGEERIPH (6.6) S5iRE(E (5.5) REKK, FHRE.
LRGERIPH (6.6) SHRAVEE (5.5) RERK, FRE.



P6AE_E1, Day=54 (2025-05-29)
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P6AE

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:10 327 160.0 3.136 F[ BRige07:10 Ba1 (CGRAEREE)
07:50 327 160.0 3.136 S| {Rig@07:50 B (RAERSE)
08:50 327 160. 0 3.136 E  1BRi%e08:50 B (RAERE)
09:35 327 160.0 3.136 5| 1RiR@09:35 Bz (KREAEES)
10:15 327 160.0 3.136 =l {Ri%e10:15 B3 (GRAERSE)
10:50 327 160. 0 3.136 F BRi%e10:50 Bz (GRAERERE)
11:25 327 160.0 3.136 S| {Ri%e11:25 Bz (GRAERSE)
12:00 327 160.0 3.136 =l {Rige12:00 B3 (RAERSE)
12:35 327 160.0 3.136 E BRige12:35 Bz (GRAERESE)
13:10 327 160.0 3.136 S {Ri%e13:10 B3 (GRAERSE)
13:45 327 160.0 3.136 = RRiB013:45 B (RFAEESE)
14:20 327 160. 0 3.136 E BRige14:20 Bz CGRAEREE)
14:55 327 160.0 3.136 El BRi&e14:55 Bz GRAEREE)
15:30 327 160.0 3.136 =l RRiB015:30 B (RFAEESE)
16:10 327 160.0 3.136 =l RRiBe16:10 Bz (REAKEE)
2it] 4905.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 5.5

EREHTERRA (0.93) , BEE
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LRGEEIPH (6.5) H5i&E@E (5.5) REKKA, BT,
LRGERIPH (6.5) SHRAVEEW (5.5) RERK, FRE.



P6AE_E1, Day=53 (2025-05-28)

FRV (ml plant-1)
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ET (ml/hr/plant)
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